S FFAE I e f F IR A 3/2006
TRV [

HET
:&Z"Fﬁﬁﬁlﬂ s
BB E SR S BT S R e

-TT

Iy

ili’hij Hrﬁhjﬁ%ﬁ‘ﬂrr?‘[ﬁ\[i_gr.jﬁﬂj(i?;)ﬁ 2 ﬁ"]gﬁ%%g
b4 (4 B EF B

I F

2. GRIEFHFPYETEVRL [ HPE RS T FVRUN B A S T RS ELAG
FURLO S 00 8~ A i ii\rwr*bﬁ%é.
o - s R Y = Tﬁ w1 EE IR - S R

(AR 55:#*"?\}IJ‘¥J§J§%$EJ# % b F'ﬁ“ffﬁ FTJEJH' Tk
ﬁ%ﬂ%@#b’ﬁWWﬁ‘ﬂb ERA -

H = PE

@%ﬁﬁ@ﬂ*jﬁ@ﬁﬁ

3. %#mf oy i LR > = Rl FIAVRLER D 2D ) B
| ﬁ‘/%ﬁ% R EMEDS Y S F[JE:::‘J:F;I o H T E%@%
IFE,r;[t;JLBngEer L% rﬁmfﬁjt - IEE :ﬁ:]‘ey L i U s o Tti?%&g

Jede i kb it 4 ﬁﬁ%%’ﬂ S B Ak
JORYRS o E S R AR FPIR R Y g
]y I

A L UL L Ao A e
AL ﬁi%iﬂﬁ”*ﬁfﬁ#ﬁﬁ’%E s
EW LAY A R - PO o PG S g

gu:



PRy % o GRS~ SLE SR AR R R Uy o e B
[ i AR LR & R R T G N I

4
5 BREER 2
%wjtﬂ@’fﬂ’»ﬁpm‘fﬁ AR T el
< g i L ~ g o i LA
) ()
1 34,000 1 14,500
2 51,000 2 29,000
3 68,000 3 43,500
4 85,000 47 I = 58,000
5 102,000
119,000

5. ##%Uﬂwaéwﬁﬁﬂ%w@$?%@%WW@W7
S

= BIARE B

P FRE L) A R F R T W

6. #E T R F = 5k 0 F] 187 228 £ 60 #&Zﬁw ] =P

1
5~ ARE RS2 BT 35% - b T A
RS2 S e R TR

ﬁ
]




2 S x| PN TR e e v A

2006=F 7|

21.1%
112 740

43.9%
15 - S95% \234 527

35.0%
187 228

PR M SRR 534 495 &

B = R R PARIE T ) N GE

20065 7%|
i o
379% _;J< 7\1[@7%\ £

5.2% 27 550

202 368
i g e
Y 8.9%
1.7% 47 329
9 301
+H Hi%)
15.1% 18.9%
80 604 100 891
B3
12.4%
66 452

akfEs i Mo 534 495 *



CONUE SR EORNEE N NN S
100% -

(=) s (G QIR e E}’FE'(ZOZ 368)= 60 mupy ) HAvAr I A
HrEi(187 228) 7 [l }%Lﬁdifﬂ[ %lﬁiﬁ‘/? EIJ?{QK?FHTF“%K
Ry EY féqﬁ?ﬁ 4 E l%%'ﬁ‘lﬂlﬁ%?%% RN
RS e R [y R SR AT RS SR

ST F AR I B
EORFIEFAEL S OREES A @%Iﬁiﬁ@ﬁ

TS £ 8L o o ™ AL r—%r— R E GRS TR U
IO o T[ﬁ @i % FIJL—SF’_(]L

<«

5 B MET | MEFHT ME
o GESSL i
(F XFE)
THEFIEFS 172 073 79 fE
TOREHED = EM 179 811 80 f&i 7
TEFMEFT 184 617 80 &7

WET 4T R S

8. MY HHAE §w¢#f#’f/ﬁ%“?
Fuj 5 P e & A J;f T—‘}t' 700 7 o E F%JF"TEJ“*?’; B
2H FI E*F(EK)'FII NEEE o T R A FJ%?’;Q%E'EUEPI?% g
i fiFt " e E F kRS

1 3,468

2 5,786 7

3 7,753 v

4 9,118

5 10,825

6~k 13,534




:-‘j: {<— f“—}y 'gLfPJ b
T* 118 F
= ?f* F ek

|

IEHE
H&;fa‘y o

H '[ﬁ I



